Internet NOBIe puzzie contest 2005

Puzzle ID : INPC2005-09
PAGODA

The puzzle is a 3-piece burr. You must assemble it (put it together) so that it forms a

symmetrical solid shape.
3-piece burr
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-1

The idea behind the design of this puzzle was that the three pieces should be as similar to each other as
possible. In the diagrams above a figure one indicates that there is an additional cube above the basic shape.
Minus 1 indicates that there is a cube underneath the basic shape. 0 indicates that there is an additional cube
both above and below the basic peice. There is one internal void whitch could have been avoided ( excuse

the pun) but this would have meant that the three pieces were not as similer as [ would have wished so that

is my reason for this.
PAGODA

Answer Key: Please show how to assemble three pieces to PAGODA.
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